NCERT Solutions for Class 10 Sanskrit Shemushi
Chapter 12 :

USat 2.
NS fE AT USSTSITH IoTeTfUl Hep oy fossd-

(P) T eNHT ol Hafd?
3dd:
e d: eNafl Tregd ol arafd|

(&) dTdoh: fddef AATelT chezd?
3dd:
dTdh: Y& ardd|

@) Htet: woeT giatt I1fd Ureeiifa?
3de:
Htel: Telae AHpAd|

(81 hTfol YefdadT Wesq: fh: arafd?
3de:
SATolToTalogaTdTfol JefdraaT tiosg : fh: arafd?

@) gfeefar: ager o 3¢ dfod?
3dd:
qfeefar: aeger se=iier: sife Ifod |

U 3.
eNfesfEdararay SHTfeh ducTiol 3mefcd UaTforaTfuf pod-

(@) ATHTHTE: AT del: qfee belfd|
3d¢:
FATHTDRTE: & del: gfeS delfd?

(&) 3SI: TAHTS AP BT ol TATHT A |
3de:
8JSJIT: DHTfol HATHTd?

(1) UASITT: 3Fa U A2
3d¢:
& BHFEFCUYH 3Mafee?

(8 T3¢ olTalTel ol ¢ eldifel gefdraar fehisfed|
3d¢:
&: SITaTTeTeToTe eIdTfol Yefdear fehisfed?
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() ITdoh: dol dAfd|
3d¢:
?ﬂawz?faaal?l?

UL 4.

seNfosfaad: el dl: siTaTef edip dsear fosad-
(3D AT .o qrféesl

3dd:

afraTef-g ATHT ofivuT HteH BT H1 It & oS A & s §T2T 3MUh §1T]

B SUITYd o S & BT Uil YIYUT fobdT ITATI o1 Tl chTc3Tof ofes &b TTel 3ie &
eTeI30 b1 TTATal & §Tg o §IeT ag UINUT [T ol HebdT g 31efd e & foban
BT & W11 BeseTdt 81T &1 AgeTd BT B &l H1aT §1dT &1 8Te o1 oTgl|

3de:

aiTaTef-312 g fA Tk eTel & &fUTa(e &oll| HThTel A 3Hoich AY gl Haft gTeet
a1 o8l €1 p® aul & If1e3T hed & I P Ieuid & 3id: T ATHa ¢lof T
BEal DI blg BIAGT ol gl 3fd AT oft gTerdel & &l ATITelT ITfee|

UL 5.

eNfosfEdd: e Ih dT: 3fead fosed-

(30 3MATET oo el ITfdarsgafd|
3de:

3o TSI UF: 3FTCUH 3HTATEE, 8[SIIT: TATH AP BT TATodod | de: T
ASD I 3o3fd, god, GloTglal: dfiel: o Dl I 3agu|

(31 3THTE oo, adq daaraar s
3d¢:

3o -dAoI o] e A Ud dp 3o AT IETSTd fAe[eTfOl hToTolTfol T SATeIToT ol
qerarfel Ygfiredt I g Wese! Id fch: 3ifd dd &1 Td IcaaT 8ff: (3rmfed)|

UL 6.
JCTgeUTd g dfctl/dftifdTde dT fd-
(1) TAT- 36T + Ihd: — A hd:

() + ~ fordtarsaeq o
3d¢:
fordtdrfar + siaqfor

(&) + 3TDBTE: = HpdlIdhIe:
3dd:

od

(T) dUe + — AU TSOTdtdd
3d¢:
IUTATH
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(&) dd + IoTdT —
3dd:
daradm

(@) ol + TdTee: =
3d¢:
SdTeem:

(i) T - fourfda: + 3ifd = fourfaarsfa

() + =pIsfu
3de:
&+ AT

(&) + = fepIsfa
3d¢:
foh: + 3ifd

@) 3HieT: + 3T H =
3dd:
FHotlsaa

(& &dd + 3 =
3de:
adsfu

(iii) TAT — TLH: + 81dd = Tl HAq

(h) TIIT: + ATAT =
3d¢:
TIMATSAT

(&) +of = Hlell o
3d¢:
CiiGE

@ fourferd: + ot =
3de:
IELLEGINE]

t3) + = qedl aT

3dée:
qed: + 3T
(iv) T — Jfer: + 3T = FAferef

(P) ald: + 3/c4: =
3d¢:
ardeed:
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(&) + 30 = 3/euefd

3dd:
3

@) der: + 3HfU =

3d¢:
dcrefu

) + 3T afed = gfeefarerdafed

3dd:
qf@‘@{:

YULal 7.

3GTECUTHI T effosfaa: faargug
gdedquqfel eaad

favrguetfol — dded ueTfal

g — id I dd U uidl = Ughuld

(@) 2TAT I AT & =

3dd:
FAGEGE

(&) 8t T 37T BfToL: =
3d¢:
aftat afTot:

(3T) 3FELH T UaRT: =

3d¢:
3Hdd¢ Ud

(&) 3T AT T 5T 3t =

3d¢:
JaAst

() AT EYTol T dd Iel:, dol =

3dd:
MICEIGEER]
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